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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %

1 29083 2.5 0.7 3 84.3 99.9
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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(c) Caterers are being encouraged to reduce the sugar content of many of the dishes they

produce. Explain the risks of a diet high in sugar. [4]
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(c) Caterers are being encouraged to reduce the sugar content of many of the dishes they
produce. Explain the risks of a diet high in sugar. [4]







(c) Caterers are being encouraged to reduce the sugar content of many of the dishes they
produce. Explain the risks of a diet high in sugar.







GCSE HOSPITALITY AND CATERING

UNIT 2 - CATERING, FOOD AND THE CUSTOMER

Q.4
(©)

Criteria marked: examiners to refer to paper mark scheme

Award 0-1 mark limited understanding of the health risks of eating a high
sugar diet. May resemble a list of health issues.

Award 2-3 marks for an answer showing some understanding of the health
risks of a diet high in sugar.

One point with sound explanation or two points simply explained.

Award 4 marks for a detailed, comprehensive answer that shows clear
understanding of the health issues related to a high sugar diet.

3/4 points with good explanation, and reference to Type 2 diabetes.

Answers could include:

Dental problems/tooth decay/tooth loss

Increase in body weight leading to obesity/get fat/problems with joints
osteoarthritis due to excess weight

Higher risk of coronary heart disease — do not accept just ‘heart attacks’

Q4 (o

(cont.)

High risk of developing type 2 diabetes which can then impact on the
body — leading to neuropathy, blindness, loss of limbs

Fatty liver — leading to liver disease, damaged liver

Sluggish bowels leading to chronic constipation

Increased risk of cancers

Heart conditions

Palpitations and mood swings, tiredness (energy peaks and troughs)
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(c) Caterers are being encouraged to reduce the sugar content of many of the dishes they

produce. Explain the risks of a diet high in sugar. 4]
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Sticky Note

The response given is very limited. The candidate could have expanded on the statement 'doesn't use up the energy' by adding that the spare energy is formed into fat and stored under the skin, around the organs and in the liver.  A build up of body fat can cause overweight leading to obesity.  If a person is obese they run a higher risk of developing heart disease and/or type 2 diabetes .  Type 2 diabetes can cause blindness and loss of limbs which will seriously impact a persons life.






(c) Caterers are being encouraged to reduce the sugar content of many of the dishes they
produce. Explain the risks of a diet high in sugar. [4]

4c:



Sticky Note

This answer shows some understanding of the effects sugar has on the body.  The diabetes comment should have stated 'type 2 diabetes'
The candidate could have shown the link between being overweight/ joint problems/heart disease and type 2 diabetes.  One condition can then lead to another.   dental decay - the candidate could have explained why sugar causes dental decay.






(c) Caterers are being encouraged to reduce the sugar content of many of the dishes they
produce. Explain the risks of a diet high in sugar.

4c: 2




Sticky Note

To access the full 4 marks the candidate needed to have identified 3 or 4 points and explained them fully.  NB Type 2 diabetes (not 'diabetes') is diet related
A good answer could be:
Diets high in sugar can have serious, negative effects on the body.  It can lead to tooth decay due to the acid produced  in the mouth by the dissolved sugar.  An excess of sugar can cause weight gain leading to obesity making the person a higher  risk for developing heart disease and/or  Type 2 diabetes which can cause blindness and loss of limbs which would have a serious impact on your life.  






4,

(c) Caterers are being encouraged to reduce the sugar content of many of the dishes they
produce. Explain the risks of a diet high in sugar. [4]
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(d) Kieran is concerned about excessive waste. Explain how any waste can be roduoo[g] o

reused and recycled.
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1Examine

(d) Kieran is concerned about excessive waste. Explain how any waste can be reduced, i
reused and recycled. [5]
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(d) Kieran is concerned about excessive waste. Explain how any waste can be reduced,

reused and recycled. [5]
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Criteria marked: examiners to refer to paper mark scheme

(d) Award 0-1 mark for a basic answer where candidates have shown limited
understanding of RRR in relation to the take away van. [5]

Award 2-3 marks for a good answer where candidates have shown some
understanding of RRR in relation to the take away van.

Award 4-5 marks for an excellent answer where the candidates have shown
clear understanding of RRR and expressed in relation to the packaging used
to the take away van.

To award 5 marks more than food and packaging waste needs to be
discussed

NB: Answers could refer to anything in relation to the take away e.g.
food, energy, water, packaging etc.

Answers could include:

e Portion control

Don't over order foods/or prepare too much/ plan ahead — not wasting
foods

Buy in bulk to reduce packaging

Stock rotate so food is used whilst in date
Use food before ‘use by date’

Have recycle bins for packaging

Use a food waste bin

Re-use plastic tubs for storage

Re-use stale bread/rolls — bread pudding
Recycle plastic/glass/paper where possible
Limit what's cooked to reduce waste

Give excess food to homeless etc.

Sell off excess

Composting

Use saucepan lids to keep in

Turn off equipment after use

Store foods correctly

Credit any acceptable response

© WJEC CBAC Ltd.







(d) Kieran is concerned about excessive waste. Explain how any waste can be reduced,
reused and recycled. [5]
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Sticky Note

The candidate has give 2 good points - portion size and composting but has not explained how these points can affect excessive waste.
making portions smaller is not always a good business move - it would need to be explained.  How does Kieran know that food is being wasted? Is he checking the customer bins to see what people are throwing away? Some people do not want huge burgers with large portions of chips or large all day breakfasts - offer smaller sized portions at a reduced price might reduce waste.
What can be composted - veg peelings and fruit off cuts.  By composting Kieran is reducing the impact on landfill and the compost can be used to 'feed' his garden the following year.
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Sticky Note

The candidate has the wrong focus for this question.  it is a take away van so is unlikely to make risotto or stocks. 
To access the higher band marks the candidate could have explained - Compost - use up vegetable peelings and fruit off cuts to prevent using landfill and the compost can be used the next year to 'feed' Kieran's garden.
Give clear examples of the use of any plastic boxes/containers.
Additional points -
Check food wastage - how much cooked food are the customers throwing away?  This could lead Kieran to re-evaluate his portion control.  Kieran should only buy the ingredients needed. If he buys more than he needs much of those ingredients could be wasted.  Or, Kieran could buy in bulk to reduce packaging but he would need to be careful about using and not wasting the extra food






(d) Kieran is concerned about excessive waste. Explain how any waste can be reduced,
reused and recycled. [5]
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Sticky Note

The candidate has give 2 good points - portion size and composting but has not explained how these points can affect excessive waste.
making portions smaller is not always a good business move - it would need to be explained.  How does Kieran know that food is being wasted? Is he checking the customer bins to see what people are throwing away? Some people do not want huge burgers with large portions of chips or large all day breakfasts - offer smaller sized portions at a reduced price might reduce waste.
What can be composted - veg peelings and fruit off cuts.  By composting Kieran is reducing the impact on landfill and the compost can be used to 'feed' his garden the following year.
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(d) Kieran is concerned about excessive waste. Explain how any waste can be reduced,
reused and recycled. [5]
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(b) A busy hotel can be a hazardous environment.
Discuss how accidents in the kitchen could be prevented. 6]
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(b) A busy hotel can be a hazardous environment.
Discuss how accidents in the kitchen could be prevented. [6]
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" (b) Abusyhotslca be a hazardous environment.
Di kitchen could be prevented.
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Criteria marked: examiners to refer to paper mark scheme

(b) Award 0-2 marks for a basic answer where candidates have shown limited
understanding of how accidents may be prevented in the catering kitchen.

[6]

Award 3-4 marks for a good answer where candidates have shown some
understanding of how accidents may be prevented in the catering kitchen and
has identified causes of accidents but not explained.

Award 5-6 marks for an excellent answer showing clear understanding of
how accidents may be prevented in the catering kitchen. At least 3 points
included and explained.

Answers could include:

Regular training for staff

Mop up spills immediately

Clear signage

Floors clear and uncluttered

Correct knife for the job/knives sharp/not left on the edge/in washing up

bowls/carried correctly

All electrical equip in good working order/PAT tested/wires not frayed

e Care when carrying hot pans/flour on handles/handles to the back of the
cooker

e Use oven cloths

Don’t overfill fryers/lower food carefully/do not have food too wet when

frying

Care when opening cans and jars

All equipment stored correctly/use safety guards

Oven cloths not hanging over the cookers/don’t have unguarded flames

Fire extinguishers to hand/fire blankets/regular fire drills

Appropriate clothing/non slip shoes/no loose jewellery/long hair back

No running/rushing in the kitchen/pay attention/concentrate

Don’t mix cleaning chemicals

Use correct dilution — strength

Store chemicals/cleaning materials properly

Turn off electrical equipment

Use wet floor signs

Do not use electrical equipment near water

Ensure communication is used

Carry out risk assessment

Clear roles for everyone

Grease free handles/equipment

Trained to lift correctly

Introduce recognised work flow pattern

Credit any acceptable response

© WJEC CBAC Ltd.
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(b) A busy hotel can be a hazardous environment.
Discuss how accidents in the kitchen could be prevented. 6]
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Sticky Note

The candidate has given a comprehensive list of accident prevention.  However, to access the top band of marks there should be clearly written prose rather than a list of points.  The list given is factually correct however it is expected to see 'because' added to the points  to aid explanation.  It is through explanation that the candidate's knowledge and understanding can be assessed.






(b) A busy hotel can be a hazardous environment.
Discuss how accidents in the kitchen could be prevented. [6]
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Sticky Note

The candidate has given some very good accident prevention points.  However, to access the higher band marks each point needs to be fully explained.  Stating the consequence of not following these rules would show the examiner the candidate's knowledge and understanding 






" (b) Abusyhotslca be a hazardous environment.
Di kitchen could be prevented.
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Sticky Note

This answer would be improved thus:
Always use 'wet floor' signs to inform the staff that the floor is slippery.  This will prevent them from slipping because they will walk with care.  Make sure that all spills are cleaned up immediately and the wet floor sign used to prevent slips. Keeping the floors and surfaces clear will prevent trip hazards creating a problem.  All equipment and food boxes must be stored on shelves or in cupboards and not on the floor.
The candidate could then add accident prevention points about the use of knives.
This would then place the answer in the high band of marks
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9.

There are strict laws in place to cover all aspects of food hygiene and safety.

(b) A busy hotel can be a hazardous environment.
Discuss how accidents in the kitchen could be prevented. [6]
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|Ex::y¢naf

‘Salmonelia outbreak: Nine in hospital with food poisoning linked to sausage rolls served
at a buffet.’

(c) Explain the role of the Environmental Health Officer when routinely visiting a catering
kitchen. 9]
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‘Salmonella outbreak: Nine in hospital with food poisoning linked to sausage rolls served
at a buffet.’

(c) Explain the role of the Environmental Health Officer when routinely visiting a catering
kitchen. [9]
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(c)

Criteria marked: examiners to refer to paper mark scheme

Award 0-3 marks for basic answer where candidates have shown limited
understanding of the role of the EHO. [9]

List of duties with no explanation.

Award 4-6 marks for a good answer where candidates have shown some
understanding of the role of EHO. Duties identified with some explanation.

Award 7-9 marks for an excellent answer where the candidates have shown
clear understanding and has referred to the 3 main areas of the role of the
EHO. A number of points have been made, explained and examples given
where appropriate. Good QWC.

Answers could include reference to the checks made by the EHO in relation
to:

(i) Inspecting

Food Premises

He will look for a cleaning schedule

Evident of regular cleaning

Hand washing facilities

Toilet facilities for kitchen staff

All storage areas are clean

Shelving for ambient foods

Temperature controlled fridges and freezers — logs of the temperatures
All equipment is clean and safe to use — no frayed or split flexes
No evidence of pests

Absence of slip, trip dangers

Close down and give date to improve

Give warnings and recommendations (improvement notices)
Issue hygiene points

(i) Checking

Hygiene of the staff

All staff have hygiene training — evidenced

All staff are clean — no BP/strong perfumes/deodorants

Hair back, hats worn

Facial piercings covered

Hands clean, nails short and clean, no acrylic nails

No jewellery — only wedding ring

Staff all well — no upsets stomachs

Staff not coughing over food

Safe practises — washing hands after toilet, handling raw meat, coughing
Cuts covered — ideally blue plaster

© WJEC CBAC Ltd.
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Q9 ()

(cont.)

(iii) Ensuring

Food Hygiene

Rules and regulations are adhered to

All deliveries checked for unbroken packaging/pest infestation
Food in all fridges and freezers labelled and dated
Rotation of stock — FIFO

HACCP in place

Foods not kept in danger zone 5-63°C

Core temperature is observed 75°C

Hot held food is 63°C minimum

Chilled foods at 5°C

Cross contamination awareness — coloured boards
Food prepared when needed — not too long in advance
Can take food away for testing

© WJEC CBAC Ltd.
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‘Salmonelia outbreak: Nine in hospital with food poisoning linked to sausage rolls served i
at a buffet.’

(c) Explain the role of the Environmental Health Officer when routinely visiting a catering
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Sticky Note

From this answer  it is possible to say that the candidate 'does know' what the EHO does but has not explained it in great detail.  Q9 needs detail and explanation to clearly illustrate the candidate's knowledge and understanding.
To access the high band of marks the examiners were looking for :
Inspecting AND checking the premises (including deliveries and storage), the foods in the kitchen and staff (personal hygiene and working practises).  
That the EHO will offer advice and guidance to ensure the kitchen and staff are complying with food safety laws.  The consequences of not adhering to the food laws and explaining why an EHO may have to close down the business.  
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Sticky Note

This is a good mid-range marked response.  To access the higher marks the candidate should have explained each point in more detail and make reference to the EHO role.  The EHO inspects, checks and advises.   Explain 'why' food must be in date, 'what' foods are high risk and 'why', what does high risk mean?
There is no reference to cross contamination / food poisoning / pathogenic bacteria/ the important food safety temperatures.
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Sticky Note

This is a good  answer hence the 5 marks.  However, if each point had been more fully explained then the answer can be awarded the higher band marks. 
eg
-What laws does the business need to comply with and why?
- Why must the business be clean? explain the consequences of a dirty kitchen.
- What is wrong with rodents in the kitchen - explain the signs/ hygiene issue / pathogenic bacteria/ cross contamination
-  What other records are there - mainly the temperature logs/ equip servicing records
- To access the highest marks critical temperatures must be identified and explained. 
-There needs to be clear EHO references and explaining that it is his role to ensure the food sold to the  public is safe to eat, posing no health issues
-
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